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Satorable Tramsformer {(mask) (link) £} T ( )u (\V) T T
’7Th:ree winding saturable transformer. ‘ q
— Parameters

Nominsl power and frequency [Pu{W.L) fnfHz)]: 4

|[25 al] < 2

Winding 1 perameters [¥1 {Voms) B1{pu) L1{pum]: 0

|[5*5.QDDD 0.001 0.04]

o : 2 I L L L I
Winding 2 parsmeters [V2(Voms) R2(pu) L2pm]: 0 002 004 006 008 04 042 014 046 048 02
|[5 0.001 004 ] t

o Flux(pu)
[~ Three windings transformer 15 T T T T T T T T T

Saturation characteristic [il (pu) phil {pu); 42 phid; . ]:
|[D 0;00110;110.5]
Co1re loss resistance and indtial fluzx [Rmdpu) phil (o] or [Faodpu)]

[L0600]
[ Simulate hysteresis
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— Breaker {mask) (link)

Implements a circudt breaker with internal resistence Fon (Ron, reguined
by model , cannot be set to zero)

First mput {13 and output (23 are the two bresker termdinals. 2nd input )
iz a Bimulink logical "gnal controlling the breaker. When 2nd input
becomes greater than zexo the breaker closes instantaneously. When Znd
input becomes zero, the breaker opens at the next cuvrent zero-crossng.

— Parameters
Breaker resistance Fon (Ohm):
[0.01
Initial state {0 for ‘open', 1 for closed' ):
1
Snubber resistance Rs (Ohms):
[1e6
Enubber capacitance Cs (F):
T
[+ External control of switching times
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Bl 15 HAp@ER T H> LR

Fouriar Terminator
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< out A K
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B 16 3F % block #¥ 2= 1 B block
A
~Relaw 51 (mask)
In = input euttent single
Trip = trip civeuit breaker
— Parameters
tap
|5
TDS leavel)
|2
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